Svenska Bridgeférbundet
IAF - SM Lag semifinal, 3:1 2019-04-14

IMP o6ver faltet, 60 bord, 120 par. Antal brickor: 12.

Plac

Par

Poang

2.63
2.45
2.34
2.27
2.27
2.09
2.07
1.99
1.83
1.79
1.79
1.66
1.66
1.36
1.33
1.32
111
1.02
1.00
1.00
0.91
0.89
0.88
0.87
0.86
0.81
0.78
0.76
0.74
0.73
0.71
0.67
0.67
0.66
0.63
0.57
0.57
0.56
0.56
0.47
0.44
0.44
0.40
0.40
0.34
0.30
0.26
0.25
0.22
0.21
0.20
0.19
0.16
0.15
0.10
0.10
0.09
0.05
0.01
0.00
0.00
-0.01
-0.05
-0.09
-0.10
-0.10
-0.15
-0.16
-0.19
-0.20
-0.21
-0.22
-0.25
-0.26
-0.30
-0.34
-0.40
-0.40
-0.44
-0.44
-0.47
-0.56
-0.56
-0.57
-0.57

Namn

Henry Franzén - Bengt-Goran Olofsson
Anders Morath - Tommy Gullberg
Viktor Andréasson - Christian Leo

Jan Selberg - Olle Wademark

Hakan Lindblom - Magnus Ekman
Simon Hult - Simon Ekenberg

Emil Tibblin - Staffan Hedman

Daniel Eriksson - Rolf Scherdin
Joachim Borgel - Tommy Jansson
Borje Dahlberg - Robin Bjorkstrand
Kenneth Karlsson - Romuald Grudzinski
Goran Hammarstrom - Mikael Arnberg
Per Borgesson - Anders Palmgren
Peter Svensson - Michael Nilsson
Tomas Boérgesson - Claes Ahgren
Henrik Wegnelius - Peter Gérnandt
Andreas Westman - Bo-Henry Ek
Jesper Rundin - Lars Kjellersson
Anders Erikson - Peter Karlsson
Tommy Bergdahl - Lars Andersson
Eric Arvidsson - Karl Asplund

Peter Kennerfalk - Lena Lundqvist
Peder Hagg - Leif Hansson

Henrik Johansson - Jorgen Neldemo
Per Jansson - Lars Kennethsson
Carsten Kofoed - Ingemar Andersson
Rune Pettersson - Sune Fager

Roger Nyman - Mikael Olsson
Jan-Erik Asmo - Ronny Ovesson Ejnell
Bjorn Ohlsson - Peter Olofsson
Johnny Blid - Erik Fryklund

Fredrik Mirhag - Par Andersson

Per Larsson - Christian Carlsson
Per-Olof Larsson - Séren Lennartsson
Hans-Olov Gustafsson - Conny Gustafsson
Roland Gyllenhammar - Peter Ventura
Torkel Petersson - Lennart Fredriksson
Johan Séfsten - Ida Gronkvist

Stefan Jonsson - Arne Ericson

Bjorn Wenneberg - Thomas Ivarsson
Jan-Olof Henriksson - Hugo Nilsson
Jonas Engstrém - Daniel Sivelind

Per Séderberg - Jakob Sondén
Joakim Nordlindh - Christer Eriksson
Kjell Holmgren - Leif Holmgren

Kaj Toivosson - Jorgen Lantz

Thomas Andersson - Johan Bennet
Michael Claesson - Bernt Sigvardsson
Lars Ornberg - Tomas Linder

Bengt Palsson - Hans Olsson

Hans Akerman - Anders Sjéstedt
Hans Kvick - Bjérn Alenfalk
Lars-Anders Callenberg - Markus Bengtsson
Thomas Wrang - David Wrang
Tatyana Trendafilova - Fredrik Jarlvik
Pierre Carbonnier - Hakan Tjarnemo
Nichlas Eliazohn - Tom Gérds

Olle Sandstrom - Jonas Gustafsson
Johan Erlandsson - Alf Roos

Jan Nilsson - Lars-Ake Nilsson
Anders Brunzell - Goéran Selldén

Lena Johansson - Leif Johansson
Sven-Erik Hallkvist - Carina Hallkvist
Urban Finnsson - Pierre Thunstrém
Gunnar Sjokvist - Hakan Johansson
Jaenita Johansson - Hans Brolin
Peder Oberg - Jonas Dahlgren

Leif Beckman - Sten-Ake Thunberg
Thomas Karlsson - Morgan Svensson
Anders Fryklund - Valter Johansson
Bjorn Westling - Bengt Alrud

Leif Trapp - Olle Axne

Krister Ahlesved - Niklas Warne

Arne Jordestedt - Leif Andréasson
Leif Lysebring - Lars Wallmark
Bengt-Erik Efraimsson - Anna Zack Efraimsson
Alexander Sandin - Bo Sundell

Arne Larsson - Tobias Toérnqvist
Kenneth Wallin - Pasi Kallio

Lars-Inge Rehnstrdm - Roland Johansson
Lars Goldberg - UllaBritt Goldberg

Per Jephson - Sven Barbus

Linus Dahlstrém - Goéran Lindberg
Bengt Johansson - Anders Ihalainen
Lars Nilsson - Borje Rudenstal
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12766
4664
89902
11074
1437
36107
3453
24659
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625
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15537
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1601
91015
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MID

9553
9047
577
14800
6926
41685
3734
3102
8415
30309
46038
24686
1340
618
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2381
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2382
5351
80064
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1612

628
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13278
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2828
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12649
630
4339
4892
2336




86 K202 -0.63 Johan Upmark - Marten Gustawsson 24498 8699
87 A3 -0.66 Bert Jehpsson - Folke Abrahamsson 5541 32632
88 Q203 -0.67 Adam Kovasznay - Kjell Evensen 50874 11738
88 B303 -0.67 Bengt Nilsson - Pekka Idman 10267 20528
90 G1 -0.71 Thomas Samuelsson - Tage Bengtsson 9808 1688
91 E201 -0.73 Eva Gunnarsson - Nils Ahlén 12598 1169
92 11 -0.74 Marie Johansson - Dan Johansson 17265 11809
93 12 -0.76 Mats Nilsland - Bjorn Fallenius 4773 4470
94 D103 -0.78 Staffan Hed - Mikael Blomqvist 19816 6340
95 F101 -0.81 Tommy Gunnarsson - Torgild Olsson 10295 2730
96 o1 -0.86 Agneta Oppenstam - Hakan Nilsson 3910 1168
97 A202 -0.87 Carl Ek - Lars-Ake Gustafsson 5294 17359
98 Al -0.88 Cecilia Rimstedt - Magnus Eriksson 78586 1170
99 L303 -0.89 Pontus Silow - Erik Bergengren 87294 51648
100 C201 -0.91 Micael Svensson - Peter Arlegard 2383 4024
101 G203 -1.00 Peter Backstrand - Stefan Lilja 13838 20858
102 J301 -1.00 Johnny Petersson - Henrik Sallberg 11931 29785
103 M203 -1.02 Lars Lundgvist - Bjérn Andersson 6692 14660
104 Q2 -1.11 Pontus Karlsson - Peggy Nyholm 3645 51632
105 L101 -1.32 Lars Ramquist - Frank Westman 80480 2822
106 Cc2 -1.33 Mattias Lindgren - Magnus Melin 87458 26213
107 G2 -1.36 Gunnar Schafer - Gun-Britt Rindstal 20696 7974
108 D302 -1.66 Jan Holm - Peter Wester 45 54
109 H301 -1.66 Hugo Jérgensen - Jan Unosson 87239 8677
110 Q201 -1.79 Hakan Straaf - Mats Sjoberg 1161 1198
111 P301 -1.79 Petra Svantesson - Lennart Johansson 15294 13145
112 R302 -1.83 Markus Hedstrém - Per Schullstrom 87082 28089
113 C203 -1.99 Henrik Malmsten - Klaus Claassen 78978 80176
114 S3 -2.07 Anders Enstrom - Leif Norén 13338 10752
115 H102 -2.09 Agneta Svahn - Mathias Bedrot 626 11709
116 R301 -2.27 Jan Matsson - Kjell Staffas 1239 34308
117 H103 -2.27 Robert Frank - Johan Géransson 25150 6915
118 E2 -2.34 Bjorn Sorling - Bjorn Thalén 80438 23411
119 M1 -2.45 Roger Ahlbom - UIf Westlin 11528 3230
120 T301 -2.63 Asa Jonsson - Peder Linder 91371 18079
1 « E107 Basta kontrakt 2 4 Kn7 Basta kontrakt
Nord v 96 44 N =420 Ost v 103 2NT O =-120
Ingen ¢ 972 NS ¢ EG3
#KD1097 & ¢ v & NT #Kn98762 & ¢ v o N
45 & Kn62 N6 8 4 108 a- & EK10942 N46 344
vD10542 vKKn73 S 6 8 4 108 vKDKn654 v82 S 46 354
¢ Kn1053 ¢ KD 0558 314 + K984 *7 087 8838
#863 #EKn42 V55834 #ED4 #K1053 V8682838
4« KD9843  D8653
vE8 v E97
+ E864 ¢ DKn1052
&5 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
02 0202 44 N+1 v7 450 372.0 -372.0| H101 H301 7¢vDO -2 +Q 300 445.0 -445.0
T102 T302 44 S+1 a K 450 372.0 -372.0 F103 F303 4vDV -2 *6 300 445.0 -445.0
P103 P303 44 S+1 a5 450 372.0 -372.0( N101 N301 44 O-4 +Q 200 356.0 -356.0
Cl C201 44 S= v2 420 333.0 -333.0 El E201 4v V-3 »8 150 294.0 -294.0
Gl G201 44 S= +J 420 333.0 -333.0 K1 K201 4v V-3 *6 150 294.0 -294.0
A2 A202 44 S= +J 420 333.0 -333.0 S1 S201 44 V-3 +Q 150 294.0 -294.0
12 1202 44 S= *T 420 333.0 -333.0( D101 D301 4v V-3 *6 150 294.0 -294.0
C3 C203 44 S= +J 420 333.0 -333.0| R103 R303 4v V-3 *6 150 294.0 -294.0
13 1203 44 S= v2 420 333.0 -333.0 Gl G201 4v V-2 *6 100 232.0 -232.0
M3  M203 44 N= +3 420 333.0 -333.0 C2 C202 4v V-2 »8 100 232.0 -232.0
S3 S203 44 S= +J 420 333.0 -333.0 S2 S202 3NV -2 ¢ A 100 232.0 -232.0
H101 H301 44 N= + K 420 333.0 -333.0 S3 S203 4v V-2 &7 100 232.0 -232.0
P101 P301 44 S= *T 420 333.0 -333.0 P101 P301 4v V-2 »8 100 232.0 -232.0
T101 T301 44 S= +J 420 333.0 -333.0 T101 T301 4v V-2 8 100 232.0 -232.0
D102 D302 44 S= v2 420 333.0 -333.0( D102 D302 4v V-2 *6 100 232.0 -232.0
P102 P302 44 S= +J 420 333.0 -333.0 F102 F302 4v V-2 »8 100 232.0 -232.0
B103 B303 44 S= *6 420 333.0 -333.0| N102 N302 3N O -2 8 100 232.0 -232.0
F103 F303 44 S= v2 420 333.0 -333.0( R102 R302 4v V-2 *6 100 232.0 -232.0
T103 T303 44 S= +J 420 333.0 -333.0 B103 B303 4v V-2 *6 100 232.0 -232.0
Q3 Q203 5¢vDV-2 *K 300 176.0 -176.0 P103 P303 4v V-2 *6 100 232.0 -232.0
D101 D301 24 S+3 v2 200 34.0 -34.0 Cl C201 4v V-1 *6 50 144.0 -144.0
Ol 0201 24 S+2 +J 170 6.0 -6.0 11 1201 4v V-1 »8 50 144.0 -144.0
Ql Q201 24 S+2 »3 170 6.0 -6.0 A2 A202 4v V-1 *7 50 144.0 -144.0
K2 K202 24 S +2 v2 170 6.0 -6.0 K2 K202 4v V-1 *6 50 144.0 -144.0
L103 L303 34 S+1 v2 170 6.0 -6.0 M2  M202 4v V-1 *6 50 144.0 -144.0
E1l E201 24 S+1 v2 140 -48.0 48.0 Q2 Q202 4v V-1 *6 50 144.0 -144.0
M1 M201 34 S= v2 140 -48.0 48.0 C3 C203 3NO-1 +Q 50 144.0 -144.0
S1 S201 34 S= v2 140 -48.0 48.0 E3 E203 4v V-1 »8 50 144.0 -144.0
E2 E202 34 S= v2 140 -48.0 48.0 M3  M203 4v V-1 *6 50 144.0 -144.0
S2 S202 24 S+1 v2 140 -48.0 48.0 03 0203 3NO-1 +Q 50 144.0 -144.0
A3 A203 34 S= +J 140 -48.0 48.0 B101 B301 4v V-1 *6 50 144.0 -144.0
E3 E203 24 S+1 +J 140 -48.0 48.0 Ji01 J301 4v V-1 *6 50 144.0 -144.0
K3 K203 24 S+1 v2 140 -48.0 48.0| R101 R301 4v O-1 8 50 144.0 -144.0
N101 N301 24 S+1 v2 140 -48.0 48.0 B102 B302 4v V-1 *9 50 144.0 -144.0
F102 F302 24 N +1 +6 140 -48.0 48.0 J102 J302 4v V-1 *6 50 144.0 -144.0
H102 H302 34 S= v2 140 -48.0 48.0 L102 L302 4v V-1 8 50 144.0 -144.0
D103 D303 24 S+1 v6 140 -48.0 48.0| D103 D303 4v V-1 »8 50 144.0 -144.0
N103 N303 24 S+1 v2 140 -48.0 48.0 L103 L303 3NO-1 +Q 50 144.0 -144.0
R103 R303 34 S= v2 140 -48.0 48.0 | N103 N303 4v V-1 *6 50 144.0 -144.0
B102 B302 24 S= v2 110 -92.0 92.0 T103 T303 4v V-1 »8 50 144.0 -144.0
B101 B301 4v O -2 &5 100 -108.0 108.0 K3 K203 3v V= ] -140 -108.0 108.0
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R101 R301 5v O -2 a A 100 -108.0 108.0 o1 0201 3NV= &9 -400 -414.0 414.0
M2 M202 4v O-1 & K 50 -186.0 186.0 Q1 Q201 3NV= &7 -400 -414.0 414.0
Al A201 44 S-1 &3 -50 -309.0 309.0 G2 G202 3NO= +Q -400 -414.0 414.0

11 1201 44 S-1 v6 -50 -309.0 309.0 A3 A203 3NV = &6 -400 -414.0 414.0
K1 K201 4e S-1 v2 -50 -309.0 309.0 G3 G203 3NO= &4 -400 -414.0 414.0
Cc2 C202 44 S-1 &3 -50 -309.0 309.0 13 1203 3NV = 6 -400 -414.0 414.0
G3 G203 44 S-1 v2 -50 -309.0 309.0 F101 F301 3NO= v3 -400 -414.0 414.0
03 0203 44 S-1 v2 -50 -309.0 309.0 T102 T302 3NV = LX) -400 -414.0 414.0

F101 F301 44 S-1 v3 -50 -309.0 309.0 E2 E202 4v V= &6 -420 -433.0 433.0

J101 J301 44 S-1 &3 -50 -309.0 309.0 02 0202 4y O= +J -420 -433.0 433.0

L101 L301 44 N-1 + K -50 -309.0 309.0 Q3 Q203 4y V= *A -420 -433.0 433.0

J102 J302 44 S-1 *J -50 -309.0 309.0 H102 H302 4v V= &6 -420 -433.0 433.0

N102 N302 44 S-1 &3 -50 -309.0 309.0 L101 L301 3NV +1 &7 -430 -433.0 433.0

R102 R302 44 S-1 v2 -50 -309.0 309.0 P102 P302 3NV +1 &9 -430 -433.0 433.0

H103 H303 44 S-1 v2 -50 -309.0 309.0 J103 J303 3NO +1 +Q -430 -433.0 433.0

J103 J303 44 S-1 &3 -50 -309.0 309.0 M1 M201 4v V +1 vT -450 -479.0 479.0
Q2 Q202 44 S-2 v2 -100 -383.0 383.0 H103 H303 4v O +1 +Q -450 -479.0 479.0

L102 L302 44 S-2 v2 -100 -383.0 383.0 Al A201 3N O +2 +2 -460 -480.0 480.0
G2 G202 3vy O= &5 -140 -420.0 420.0 12 1202 4% V +2 +3 -480 -491.0 491.0

3 #105 Basta kontrakt 4 & DKn87 Basta kontrakt
Syd v Kn9652 4¢ V =-130 Vast vE 6v N =1430
oV + 1076 Alla ¢+ EKn85
&732 & ¢ v &N &E872 & ¢ v & NT
4 ED943 &Kn N7 3 454 4E932 454 N 129 121110
vD743 vK108 S7 3464 v875 v9632 S 129 121110
+ K95 + D8432 O6 108 7 8 ¢+ K73 ¢ D1096 014111
&K D984 V 6 108 7 8 #1043 &Kn96 vi4ga111
& K8762 « K106
vE v KDKn104
¢ EKn 42
&#EKNn1065 &#KD5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al A201 2vyDV-1 &2 200 372.0 -372.0 Q1 Q201 6NN= v3 1440 758.0 -758.0
S1 S201 4v V-2 T 200 372.0 -372.0 D102 D302 6y S= s A 1430 725.0 -725.0
S3 S203 1e V-1 *7 100 242.0 -242.0 Al A201 3N N +3 a5 690 28.0 -28.0

F101 F301 1e V-1 +3 100 242.0 -242.0 11 1201 3N N +3 &6 690 28.0 -28.0

J101 J301 1la V-1 +6 100 242.0 -242.0 M1 M201 3N N +3 &6 690 28.0 -28.0

F102 F302 14 V-1 v2 100 242.0 -242.0 o1 0201 3NN +3 v3 690 28.0 -28.0

T102 T302 1e V-1 T 100 242.0 -242.0 A2 A202 3N S +3 a3 690 28.0 -28.0
A3 A203 2& S = v3 90 237.0 -237.0 12 1202 4N S +2 a2 690 28.0 -28.0
M3 M203 2& S = v4 90 237.0 -237.0 K2 K202 3N N +3 v3 690 28.0 -28.0

R101 R301 2& S= +5 90 237.0 -237.0 E3 E203 3N N +3 v2 690 28.0 -28.0

F103 F303 2# S= v4 90 237.0 -237.0 13 1203 3N N +3 &6 690 28.0 -28.0
C3 C203 1e S= +3 80 226.0 -226.0 M3 M203 4N N +2 v3 690 28.0 -28.0

T101 T301 1e S= &K 80 226.0 -226.0 03 0203 4N N +2 a5 690 28.0 -28.0

D102 D302 14 S= va 80 226.0 -226.0 Q3 Q203 3NN +3 a5 690 28.0 -28.0

L102 L302 14 S= v4 80 226.0 -226.0 B101 B301 3N N +3 46 690 28.0 -28.0
C1l C201 1e S-1 v4 -50 27.0 -27.0 D101 D301 3N N +3 &6 690 28.0 -28.0
Cc2 C202 2& S-1 va -50 27.0 -27.0 F101 F301 3N N+3 +3 690 28.0 -28.0
K2 K202 2& S-1 v4 -50 27.0 -27.0 H101 H301 3N S +3 v8 690 28.0 -28.0
02 0202 14 S-1 &K -50 27.0 -27.0 J101 J301 3NN +3 &6 690 28.0 -28.0

B101 B301 1e S-1 &K -50 27.0 -27.0 L101 L301 4NN +2 a5 690 28.0 -28.0

D101 D301 14 S-1 v4 -50 27.0 -27.0 N101 N301 3N S +3 &T 690 28.0 -28.0

P101 P301 1e S-1 v3 -50 27.0 -27.0 P101 P301 3N S +3 a2 690 28.0 -28.0

P102 P302 1e S-1 va -50 27.0 -27.0 T101 T301 3NN +3 a5 690 28.0 -28.0

R102 R302 14 S-1 v4 -50 27.0 -27.0 B102 B302 3N S +3 a2 690 28.0 -28.0

J103 J303 14 S-1 v4 -50 27.0 -27.0 J102 J302 3N S +3 a2 690 28.0 -28.0

L103 L303 14 S-1 va -50 27.0 -27.0 L102 L302 3N S +3 a3 690 28.0 -28.0

R103 R303 14 S-1 &K -50 27.0 -27.0 N102 N302 3N S +3 a3 690 28.0 -28.0

H101 H301 1 V= &2 -80 -21.0 21.0 P102 P302 3N N +3 v9 690 28.0 -28.0

L101 L301 1a V= v2 -80 -21.0 21.0 R102 R302 3NN +3 a5 690 28.0 -28.0

N103 N303 1a V= v2 -80 -21.0 21.0 D103 D303 3N S +3 a3 690 28.0 -28.0
A2 A202 2¢ O= vA -90 -40.0 40.0 F103 F303 3NN +3 a5 690 28.0 -28.0

11 1201 3& S -2 va -100 -63.0 63.0 L103 L303 3N N +3 &5 690 28.0 -28.0
M1 M201 14 S-2 v4 -100 -63.0 63.0 P103 P303 3N S +3 a3 690 28.0 -28.0
o1 0201 14 S-2 v4 -100 -63.0 63.0 R103 R303 3N S +3 a3 690 28.0 -28.0

12 1202 14 S-2 v3 -100 -63.0 63.0 T103 T303 3NN +3 v3 690 28.0 -28.0

B102 B302 1e S-2 v4 -100 -63.0 63.0 Cc2 C202 4v S+2 +3 680 27.0 -27.0

H102 H302 14 S-2 v4 -100 -63.0 63.0 El E201 3N N +2 *2 660 -30.0 30.0

D103 D303 14 S-2 va -100 -63.0 63.0 Gl G201 3NN +2 +9 660 -30.0 30.0

T103 T303 14 S-2 v4 -100 -63.0 63.0 Q2 Q202 3NN +2 +9 660 -30.0 30.0
E1l E201 2v O= *2 -110 -68.0 68.0 S2 S202 3NN +2 +9 660 -30.0 30.0
K1 K201 1e V+1 v2 -110 -68.0 68.0 G3 G203 3NN +2 +9 660 -30.0 30.0
G2 G202 14 V+1 v2 -110 -68.0 68.0 E2 E202 44 N+1 +9 650 -30.0 30.0
E3 E203 2v V= oT -110 -68.0 68.0 C1l C201 3NN +1 +6 630 -87.0 87.0
G3 G203 1s O +1 v3 -110 -68.0 68.0 K1 K201 3NN +1 +9 630 -87.0 87.0
K3 K203 3¢ O= a2 -110 -68.0 68.0 S1 S201 3NN+1 +9 630 -87.0 87.0

J102 J302 2v V= »2 -110 -68.0 68.0 G2 G202 3NN +1 +9 630 -87.0 87.0

B103 B303 3¢ O= vA -110 -68.0 68.0 M2 M202 3N N +1 +6 630 -87.0 87.0
03 0203 INO+1 &5 -120 -87.0 87.0 02 0202 3NN +1 *T 630 -87.0 87.0
S2 S202 3¢ O+1 vA -130 -102.0 102.0 A3 A203 3NN +1 +6 630 -87.0 87.0

N101 N301 2¢ O +2 &A -130 -102.0 102.0 C3 C203 3NN +1 +9 630 -87.0 87.0

H103 H303 3¢ O +1 a2 -130 -102.0 102.0 K3 K203 3N N +1 +6 630 -87.0 87.0
E2 E202 2% S -3 v4 -150 -140.0 140.0 R101 R301 3NN +1 +6 630 -87.0 87.0
Q2 Q202 14 S-3 &K -150 -140.0 140.0 H102 H302 3NN +1 +9 630 -87.0 87.0

13 1203 INO + &5 -150 -140.0 140.0 T102 T302 3NN +1 +9 630 -87.0 87.0
Q3 Q203 1vDV= &2 -160 -148.0 148.0 B103 B303 3NN +1 +6 630 -87.0 87.0
Q1 Q201 14DS-2 &K -300 -342.0 342.0 H103 H303 3NN +1 +9 630 -87.0 87.0
M2 M202 2#D S -2 &K -300 -342.0 342.0 J103 J303 3NN +1 +6 630 -87.0 87.0

N102 N302 34D S -2 &K -300 -342.0 342.0 N103 N303 3NN +1 +9 630 -87.0 87.0
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P103 P303 24D S -2 &K -300 -342.0 342.0 F102 F302 44 N= +9 620 -87.0 87.0
Gl G201 3NO+1 »J -630 -650.0 650.0 S3 S203 6NN -2 +6 -200 -775.0 775.0
5 48 Basta kontrakt 6 « KDKn6 Basta kontrakt
Nord v ED54 54 O =-450 Ost v KKn106 4% O =-130
NS + K93 ov ¢ Kn53
#98654 & ¢ v & NT »87 & ¢ v o NT
4 K1062 4 E97543 N8 29 24 a74 4 E103 N3 4664
v8 v Kn93 S82924 v 98 v D543 S 34664
¢ ED8654 ¢ Kn2 O 4 104 118 ¢ EKD106 42 O 109 7 7 8
D2 &»EK V 4 104 118 #Knl032 &EK64 vV 109 7 7 8
& DKn #9852
vK10762 vE72
+ 107 4987
#Knl1l073 D95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Q1 Q201 64 O-1 v6 50 572.0 -572.0 T101 T301 4v O -4 a5 400 576.0 -576.0
K2 K202 64 O-1 vK 50 572.0 -572.0 B103 B303 3N O -4 49 400 576.0 -576.0
C3 C203 64 O-1 aJ 50 572.0 -572.0 E3 E203 3N O -2 49 200 360.0 -360.0
O3 0203 3NV-1 vA 50 572.0 -572.0 G3 G203 3NO-2 a3 200 360.0 -360.0
Ji01 J301 64 O-1 *T 50 572.0 -572.0 K3 K203 3N O -2 49 200 360.0 -360.0
T101 T301 64 O-1 aJ 50 572.0 -572.0 Ol 0201 3¢ O-1 48 100 227.0 -227.0
H102 H302 64 O-1 *T 50 572.0 -572.0 S1 S201 3NO-1 49 100 227.0 -227.0
T102 T302 64 O-1 *T 50 572.0 -572.0 Q2 Q202 3NO-1 a5 100 227.0 -227.0
Al A201 44 O +1 &) -450 -84.0 84.0 C3 C203 3NO-1 a5 100 227.0 -227.0
C1 C201 44 O+1 aJ -450 -84.0 84.0 B101 B301 3NO-1 49 100 227.0 -227.0
E1l E201 44 O +1 4Q -450 -84.0 84.0 R101 R301 3NO-1 &Q 100 227.0 -227.0
Gl G201 44 O+1 @] -450 -84.0 84.0 F102 F302 3NO-1 a5 100 227.0 -227.0
11 1201 44 O +1 *T -450 -84.0 84.0 J103 J303 3NO -1 49 100 227.0 -227.0
K1 K201 44 O +1 »J -450 -84.0 84.0 L103 L303 3NV-1 a5 100 227.0 -227.0
M1  M201 44 O+1 v2 -450 -84.0 84.0 R103 R303 3NO-1 a5 100 227.0 -227.0
Ol 0201 44 O+1 &T -450 -84.0 84.0 T103 T303 3NO-1 a5 100 227.0 -227.0
S1 S201 44 O +1 *T -450 -84.0 84.0 F101 F301 24 S-1 *A -50 13.0 -13.0
A2 A202 44 O +1 v3 -450 -84.0 84.0 F103 F303 24 N-1 ¢ A -50 13.0 -13.0
Cc2 C202 44 O+1 *T -450 -84.0 84.0 C1 C201 INV= aK -90 -46.0 46.0
E2 E202 44 O +1 v2 -450 -84.0 84.0 13 1203 1INV = a K -90 -46.0 46.0
G2 G202 44 O+1 *T -450 -84.0 84.0 02 0202 34 S-2 ¢ A -100 -63.0 63.0
12 1202 44 O +1 &J -450 -84.0 84.0 N102 N302 34 N-2 SA -100 -63.0 63.0
M2  M202 44 O +1 v2 -450 -84.0 84.0 Al A201 34 0= 49 -110 -86.0 86.0
02 0202 44 O+1 «Q -450 -84.0 84.0 Gl G201 2¢ V+1 a K -110 -86.0 86.0
Q2 Q202 44 O+1 &J -450 -84.0 84.0 11 1201 34O = v2 -110 -86.0 86.0
S2 S202 44 O +1 v2 -450 -84.0 84.0 K1 K201 2& O +1 49 -110 -86.0 86.0
A3 A203 44 O +1 *] -450 -84.0 84.0 M1  M201 2¢ V+1 a K -110 -86.0 86.0
E3 E203 44 O +1 *T -450 -84.0 84.0 c2 C202 2¢ V+1 aK -110 -86.0 86.0
G3 G203 44 O+1 »J -450 -84.0 84.0 12 1202 34 O = 49 -110 -86.0 86.0
13 1203 44 O +1 v2 -450 -84.0 84.0 K2 K202 3¢ V= a K -110 -86.0 86.0
K3 K203 44 O +1 aJ -450 -84.0 84.0 D101 D301 3+ 0= a5 -110 -86.0 86.0
Q3 Q203 44 O+1 *T -450 -84.0 84.0 D102 D302 2¢ V+1 a K -110 -86.0 86.0
S3 S203 44 O +1 *T -450 -84.0 84.0 P102 P302 3# O = a5 -110 -86.0 86.0
D101 D301 4« O +1 &J -450 -84.0 84.0 H103 H303 3# O = a5 -110 -86.0 86.0
F101 F301 44 V +1 v3 -450 -84.0 84.0 N103 N303 2¢ V+1 a K -110 -86.0 86.0
H101 H301 4« O +1 »J -450 -84.0 84.0 El E201 1INV +1 a K -120 -106.0 106.0
L101 L301 44 V+1 &J -450 -84.0 84.0 A2 A202 1INV +1 aK -120 -106.0 106.0
N101 N301 44 O +1 &7 -450 -84.0 84.0 G2 G202 INV+1 a K -120 -106.0 106.0
P101 P301 44 O +1 &) -450 -84.0 84.0 M2  M202 1INV +1 «Q -120 -106.0 106.0
R101 R301 44 O +1 *T -450 -84.0 84.0 S2 S202 1INV +1 aK -120 -106.0 106.0
B102 B302 44 O +1 *T -450 -84.0 84.0 A3 A203 1INV +1 a K -120 -106.0 106.0
D102 D302 54 O = vK -450 -84.0 84.0 M3  M203 1INV +1 a K -120 -106.0 106.0
F102 F302 44 O +1 &J -450 -84.0 84.0 O3 0203 INV+1 aK -120 -106.0 106.0
J102 J302 44 O +1 v7 -450 -84.0 84.0 Q3 Q203 2NO= 49 -120 -106.0 106.0
L102 L302 44 O +1 *] -450 -84.0 84.0 H101 H301 1INV +1 a K -120 -106.0 106.0
N102 N302 44 O +1 *6 -450 -84.0 84.0 L101 L301 INO +1 a2 -120 -106.0 106.0
P102 P302 44 O +1 *T -450 -84.0 84.0 P101 P301 2N O = a5 -120 -106.0 106.0
R102 R302 44 O +1 *T -450 -84.0 84.0 B102 B302 INO +1 49 -120 -106.0 106.0
D103 D303 44 O +1 v2 -450 -84.0 84.0 J102 J302 INO+1 v2 -120 -106.0 106.0
F103 F303 44 O +1 *T -450 -84.0 84.0 L102 L302 1INV +1 &Q -120 -106.0 106.0
H103 H303 44 O +1 v2 -450 -84.0 84.0 R102 R302 1INV +1 a K -120 -106.0 106.0
J103 J303 44 O +1 &J -450 -84.0 84.0 T102 T302 INO+1 49 -120 -106.0 106.0
L103 L303 44 O +1 *T -450 -84.0 84.0 P103 P303 INO +1 a5 -120 -106.0 106.0
N103 N303 44 O +1 N -450 -84.0 84.0 Q1 Q201 3&V+1 a K -130 -119.0 119.0
P103 P303 44 O +1 aJ -450 -84.0 84.0 J101 J301 3 O +1 49 -130 -119.0 119.0
R103 R303 44 O +1 »J -450 -84.0 84.0 H102 H302 3# O +1 a5 -130 -119.0 119.0
T103 T303 44 O +1 &7 -450 -84.0 84.0 N101 N301 2N O +1 *7 -150 -148.0 148.0
B101 B301 44 O +2 *T -480 -136.0 136.0 D103 D303 3% O +2 a5 -150 -148.0 148.0
B103 B303 44 O +2 *T -480 -136.0 136.0 E2 E202 24 S-4 +A -200 -224.0 224.0
M3  M203 44 O +3 v3 -510 -188.0 188.0 S3 S203 3NO= +9 -600 -634.0 634.0
7 « Kn9862 Basta kontrakt 8 496 Basta kontrakt
Syd vED 4% S =130 Vast v D102 34 N =140
Alla 4983 Ingen ¢ EKKn7
»K64 & ¢ v & NT &K743 & ¢ v & NT
4ED54 4 K1073 N 108 7 7 8 & K52 & Kn8 N8 6 79 8
vKKn65 v972 S 108 7 7 8 vEKKn73 v54 S867 938
¢+ 104 + ED62 034665 + D8 + 1096532 047533
#973 #DKn V345605 #Knl02 D86 V47533
@- 4 ED10743
v 10843 v 986
¢ KKn75 *4
#E10852 SE95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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Q3 Q203 34DO-3 *A 800 707.0 -707.0 Q1 Q201 4¢DO-3 v8 500 462.0 -462.0
R102 R302 34DO-2 *7 500 476.0 -476.0 M3  M203 4¢DO-3 v6 500 462.0 -462.0
A3 A203 44 O -4 v3 400 361.0 -361.0 El E201 3NN +1 2 430 388.0 -388.0
D101 D301 34 O-4 v4 400 361.0 -361.0 M2  M202 3NN +1 *6 430 388.0 -388.0
F102 F302 2¢ V-4 *4 400 361.0 -361.0 G3 G203 3NN+1 ¢4 430 388.0 -388.0
G2 G202 34 O-3 v4 300 237.0 -237.0 13 1203 3N N +1 +5 430 388.0 -388.0
B101 B301 24 V-3 a2 300 237.0 -237.0| R101  R301 3NN+1 *T 430 388.0 -388.0
F101 F301 INO-3 v3 300 237.0 -237.0 L102 L302 3NN +1 ¢3 430 388.0 -388.0
R101  R301 24 V-3 a2 300 237.0 -237.0 Q2 Q202 3¢DO-2 oA 300 215.0 -215.0
K1 K201 1v V-2 a2 200 88.0 -88.0 03 0203 3¢DO-2 LY 300 215.0 -215.0
01 0201 24 O-2 *A 200 88.0 -88.0 J102 J302 3¢DO-2 s A 300 215.0 -215.0
Q1 Q201 24 O-2 v8 200 88.0 -88.0( P103 P303 2N N +2 +3 180 50.0 -50.0
E2 E202 2v V-2 a2 200 88.0 -88.0| N101  N301 24 S+2 vA 170 47.0 -47.0
K2 K202 INO-2 *2 200 88.0 -88.0| B102 B302 24 S+2 vA 170 47.0 -47.0
G3 G203 34 O-2 vQ 200 88.0 -88.0( T103 T303 34 S+1 vA 170 47.0 -47.0
M3 M203 INV-2 ¢9 200 88.0 -88.0 Cl C201 24 S+1 vA 140 -8.0 8.0
S3  S203 34 O-2 v8 200 88.0 -88.0 11 1201 34 S= vK 140 -8.0 8.0
B102 B302 1INV -2 49 200 88.0 -88.0 M1  M201 24 S+1 vA 140 -8.0 8.0
J102 J302 24 V-2 a2 200 88.0 -88.0 S1  S201 24 S+1 vA 140 -8.0 8.0
P102 P302 1INV -2 46 200 88.0 -88.0 A2 A202 24 S+1 vA 140 -8.0 8.0
F103 F303 1v V-2 a2 200 88.0 -88.0 E2 E202 34 S= vA 140 -8.0 8.0
J103 J303 34 O-2 v4 200 88.0 -88.0 G2 G202 24 S+1 vK 140 -8.0 8.0
L103 L303 2NV -2 48 200 88.0 -88.0 12 1202 24 S +1 v3 140 -8.0 8.0
T103 T303 INO-2 *2 200 88.0 -88.0 K2 K202 34 N= vA 140 -8.0 8.0
K3 K203 2# S +3 *T 150 12.0 -12.0 K3 K203 24 S+1 +Q 140 -8.0 8.0
Al A201 24 S+2 *T 130 -22.0 22.0 S3  S203 24 S+1 *J 140 -8.0 8.0
Cl C201 44 S-= s A 130 -22.0 22.0| B101 B301 24 N+1 v5 140 -8.0 8.0
C2 C202 2#S+2 3 130 -22.0 22.0| D101 D301 24 S+1 vA 140 -8.0 8.0
C3 C203 2& N+2 *Q 130 -22.0 22.0 Jio1 J301 24 S+1 vA 140 -8.0 8.0
E1l E201 INS+1 v5 120 -26.0 26.0 L101 L301 34 S= vA 140 -8.0 8.0
11 1201 INS+1 v4 120 -26.0 26.0 P101 P301 24 S+1 vK 140 -8.0 8.0
A2  A202 INS+1 *T 120 -26.0 26.0| T101 T301 34 S= vA 140 -8.0 8.0
S2  S202 INS+1 v3 120 -26.0 26.0 F102 F302 24 S+1 vA 140 -8.0 8.0
H101  H301 INS+1 v5 120 -26.0 26.0| H102 H302 34 S= vA 140 -8.0 8.0
T101 T301 INS+1 v6 120 -26.0 26.0| N102 N302 34 S= vA 140 -8.0 8.0
N102  N302 INS+1 v6 120 -26.0 26.0| R102 R302 34 S= vA 140 -8.0 8.0
N103  N303 INS+1 v6 120 -26.0 26.0 | T102 T302 24 N+1 v5 140 -8.0 8.0
02 0202 3#N-= v2 110 -55.0 55.0| D103 D303 24 S+1 vA 140 -8.0 8.0
P101 P301 3& S= *T 110 -55.0 55.0 J103 J303 24 S+1 vK 140 -8.0 8.0
Q2 Q202 INV-1 a2 100 -71.0 71.0 L103 L303 24 S+1 vA 140 -8.0 8.0
N101  N301 1v V-1 a2 100 -71.0 71.0| N103  N303 24 S+1 vA 140 -8.0 8.0
B103 B303 INV-1 a2 100 -71.0 71.0| R103 R303 1a S+2 vA 140 -8.0 8.0
D103 D303 INV-1 *4 100 -71.0 71.0 C2 C202 2NN= v5 120 -47.0 47.0
P103 P303 1 V-1 +9 100 -71.0 71.0| P102 P302 2N N = v5 120 -47.0 47.0
Gl G201 INS-= a4 90 -74.0 74.0 Gl G201 3¢ V-2 49 100 -70.0 70.0
M1 M201 INS-= v6 90 -74.0 74.0 K1 K201 3¢ O-2 v6 100 -70.0 70.0
M2  M202 INS= *9 90 -74.0 74.0 02 0202 3¢ O-2 v8 100 -70.0 70.0
E3 E203 2¢ S= *T 90 -74.0 74.0| H103 H303 3¢ O-2 oA 100 -70.0 70.0
13 1203 INS= v6 90 -74.0 74.0 E3 E203 Pass -226.0 226.0
L101 L301 INS= v6 90 -74.0 74.0 Al A201 44 S-1 vA -50 -291.0 291.0
D102 D302 INS= v5 90 -74.0 74.0 01 0201 44 S-1 vA -50 -291.0 291.0
S1  S201 Pass -210.0 210.0 S2  S202 44 S-1 vK -50 -291.0 291.0
R103  R303 Pass -210.0 210.0 C3 C203 44 S-1 vA -50 -291.0 291.0
H102  H302 1e V= 3 -80 -319.0 319.0 Q3 Q203 44 S-1 vA -50 -291.0 291.0
12 1202 INS-1 v5 -100 -343.0 343.0 F101 F301 44 S-1 vA -50 -291.0 291.0
03 0203 14 N-1 +Q -100 -343.0 343.0| H101  H301 44 S-1 vA -50 -291.0 291.0
L102 L302 INS-1 v6 -100 -343.0 343.0( D102 D302 44 S-1 vA -50 -291.0 291.0
T102 T302 3#S-1 3 -100 -343.0 343.0| B103 B303 44 S-1 vK -50 -291.0 291.0
Ji01 J301 INS-2 v4 -200 -461.0 461.0 F103 F303 44 S-1 vA -50 -291.0 291.0
H103  H303 24DN-2 v2 -500 -695.0 695.0 A3  A203 3NDN-1 v5 -100 -362.0 362.0
9 4 K95 Basta kontrakt 10 463 Basta kontrakt
Nord v Kn85 34 O =-140 Ost v EKn1054 5¢ SD-2-500
ov ¢ E10943 Alla ¢ 6542
«D5 & ¢ v aN #Kn2 & ¢ v & NT
1076432 «EDKn N6 76 36 «Kn108542 & KD9 N8 9535
vE2 v K976 S6 76 36 vKD73 v 9862 S$8 9535
¢Kn765 +8 0556 95 ¢E 41087 O4 48 108
&3 #E9742 V55695 *84 #EK3 V34897
8 ~E7
vD1043 v-
¢ KD2 ¢ KDKn93
#KKn1086 #D109765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H101  H301 3#DN= ¢2 470 630.0 -630.0 A2 A202 5vDO-3 +K 800 742.0 -742.0
G3 G203 3+ 0-2 *K 200 348.0 -348.0 G2 G202 5¢vDO-3 +K 800 742.0 -742.0
M3  M203 2& O -2 ¢+ K 200 348.0 -348.0 Cl C201 4vDO-2 +K 500 535.0 -535.0
R102 R302 2% O-2 v4 200 348.0 -348.0 M2  M202 4vD O -2 +K 500 535.0 -535.0
C2 C202 2NN= v7 120 242.0 -242.0 S2  S202 4vyDO-2 +K 500 535.0 -535.0
Al A201 4+ V-1 *Q 100 209.0 -209.0 Q3 Q203 4vDO-2 +K 500 535.0 -535.0
El E201 24 O-1 *2 100 209.0 -209.0| H101  H301 4vDO-2 +K 500 535.0 -535.0
Gl G201 4e V-1 5 100 209.0 -209.0 J101 J301 4vDO-2 +K 500 535.0 -535.0
11 1201 24 O -1 v4 100 209.0 -209.0| P101 P301 4vDO -2 +K 500 535.0 -535.0
K1 K201 4e V-1 v5 100 209.0 -209.0| R101 R301 4vDO-2 +K 500 535.0 -535.0
Ol 0201 4e V-1 *Q 100 209.0 -209.0| P102 P302 4vDO-2 +K 500 535.0 -535.0
Ql Q201 44 O-1 v8 100 209.0 -209.0| R102 R302 4vDO-2 +K 500 535.0 -535.0
A2 A202 44 V-1 ¢3 100 209.0 -209.0 Ji03 J303 4vD O -2 +K 500 535.0 -535.0
12 1202 44 O -1 v5 100 209.0 -209.0 C3 C203 54DV-1 +3 200 257.0 -257.0
K2 K202 34 V-1 v] 100 209.0 -209.0 G3 G203 3vDO-1 *] 200 257.0 -257.0
M2 M202 4e V-1 *Q 100 209.0 -209.0 13 1203 4v O -2 +K 200 257.0 -257.0
02 0202 44 V-1 *Q 100 209.0 -209.0 K3 K203 44DV -1 *] 200 257.0 -257.0
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A3 A203 44 O-1 v5 100 209.0 -209.0 B102 B302 5e V-2 & 200 257.0 -257.0
C3 C203 34 V-1 v5 100 209.0 -209.0 N102 N302 4y O -2 ¢+ K 200 257.0 -257.0
E3 E203 2&# O -1 48 100 209.0 -209.0 L103 L303 4v V-2 &J 200 257.0 -257.0
03 0203 44 V-1 &Q 100 209.0 -209.0 R103 R303 44 S= vK 130 182.0 -182.0
D101 D301 44 V-1 v5 100 209.0 -209.0 E1l E201 3NV-1 +2 100 146.0 -146.0
N101 N301 4e V-1 L o) 100 209.0 -209.0 02 0202 44 O-1 +Q 100 146.0 -146.0
P101 P301 2# O-1 +K 100 209.0 -209.0 Q2 Q202 44 V-1 & 100 146.0 -146.0
R101 R301 44 O-1 +Q 100 209.0 -209.0 L101 L301 4e V-1 EN) 100 146.0 -146.0
H103 H303 44 O-1 +K 100 209.0 -209.0 T101 T301 44 O-1 + K 100 146.0 -146.0
T103 T303 4e V-1 a5 100 209.0 -209.0 D102 D302 44 V-1 *4 100 146.0 -146.0
C1l C201 2¢ N-1 &A -50 11.0 -11.0 L102 L302 4e V-1 EN) 100 146.0 -146.0
F101 F301 2¢ N-1 v3 -50 11.0 -11.0 H103 H303 4e V-1 & 100 146.0 -146.0
F102 F302 2¢ N-1 a5 -50 11.0 -11.0 N103 N303 3v O-1 +K 100 146.0 -146.0
D103 D303 3¢ N-1 &2 -50 11.0 -11.0 P103 P303 3v V-1 EN) 100 146.0 -146.0
P103 P303 3NN-1 +8 -50 11.0 -11.0 11 1201 4¢ S-1 &] -100 -61.0 61.0
T102 T302 3& S-2 a3 -100 -67.0 67.0 Al A201 2v O= +K -110 -62.0 62.0
M1 M201 2« V +1 &Q -140 -125.0 125.0 F101 F301 24 O+1 &3 -140 -106.0 106.0
S1 S201 34 V= v5 -140 -125.0 125.0 S1 S201 34 V+1 & -170 -137.0 137.0
E2 E202 24 V +1 a5 -140 -125.0 125.0 12 1202 34 V +1 & -170 -137.0 137.0
K3 K203 34 V= v5 -140 -125.0 125.0 J102 J302 34 V+1 +4 -170 -137.0 137.0
Q3 Q203 34 V= v5 -140 -125.0 125.0 K1 K201 5¢DS-1 vK -200 -164.0 164.0
S3 S203 34 V= v5 -140 -125.0 125.0 Q1 Q201 5¢ N-2 & K -200 -164.0 164.0
B101 B301 34 V= a5 -140 -125.0 125.0 B101 B301 5¢DS-1 vK -200 -164.0 164.0
J101 J301 3a V= &Q -140 -125.0 125.0 N101 N301 5¢DS-1 vK -200 -164.0 164.0
T101 T301 34 V= v5 -140 -125.0 125.0 H102 H302 5¢DS-1 vK -200 -164.0 164.0
B102 B302 34 O= + K -140 -125.0 125.0 T102 T302 5¢ N - & K -200 -164.0 164.0
D102 D302 24 V +1 v5 -140 -125.0 125.0 B103 B303 5¢DS-1 vQ -200 -164.0 164.0
J102 J302 34 O= v3 -140 -125.0 125.0 F103 F303 5¢DS-1 vK -200 -164.0 164.0
L102 L302 24 V+1 &Q -140 -125.0 125.0 Gl G201 5¢DS-2 LY:] -500 -441.0 441.0
N102 N302 24 V +1 +3 -140 -125.0 125.0 E2 E202 5&D S -2 *A -500 -441.0 441.0
P102 P302 34 O= +K -140 -125.0 125.0 K2 K202 5¢D S -2 a] -500 -441.0 441.0
B103 B303 34 V= *A -140 -125.0 125.0 A3 A203 64DS-2 vK -500 -441.0 441.0
J103 J303 3a4 V= v5 -140 -125.0 125.0 T103 T303 5¢DS-2 LY -500 -441.0 441.0
N103 N303 24 V +1 &Q -140 -125.0 125.0 M1 M201 44 V= *4 -620 -527.0 527.0
S2 S202 34 V+1 *A -170 -173.0 173.0 01 0201 4s V= EN) -620 -527.0 527.0
L101 L301 24 O +2 v4 -170 -173.0 173.0 E3 E203 4e V= &J -620 -527.0 527.0
L103 L303 24 V +2 +3 -170 -173.0 173.0 M3 M203 44 V= &5 -620 -527.0 527.0
G2 G202 4a V= *A -620 -600.0 600.0 03 0203 44 V= EN) -620 -527.0 527.0
Q2 Q202 44 V= v5 -620 -600.0 600.0 F102 F302 44 V= +5 -620 -527.0 527.0
H102 H302 44 O = v4 -620 -600.0 600.0 D103 D303 44 V= *4 -620 -527.0 527.0
F103 F303 44 V= a5 -620 -600.0 600.0 S3 S203 4vDN-5 -1400 -895.0 895.0
R103 R303 44 V= *A -620 -600.0 600.0 D101 D301 4vDN -6 &A -1700 -986.0 986.0
13 1203 5¢DN-4 +8 -800 -733.0 733.0 Cc2 C202 5vDN-7 &K -2000 -1083.0 1083.0
11 & KDKn8 Basta kontrakt 12 & K85 Basta kontrakt
Syd v 983 5¢v N =450 Vast v 9762 4e V =-420
Ingen ¢ E952 NS + D98
&42 & ¢ v & NT 654 & ¢ v & NT
& 10752 & E43 N6 8 118 9 4 DKnl10 #«E6432 N5 47 35
v 107 v DKn S 6 8 107 9 v103 v Kn5 S54735
+ 86 + K10743 065222 ¢E763 ¢ K542 O8 9 6 108
#DKn1085 &E96 V65222 &#EKNn83 #109 V 8 9 6 108
«96 «97
v EK6542 v EKD84
¢ DKn + Knl10
&K73 &KD72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al A201 4y S+1 &Q 450 148.0 -148.0 S2 S202 44 O-1 vA 50 345.0 -345.0
Gl G201 4y S+1 &Q 450 148.0 -148.0 M3 M203 2v S-1 & Q -100 124.0 -124.0
K1 K201 4v S+1 &Q 450 148.0 -148.0 03 0203 3v S-1 «Q -100 124.0 -124.0
o1 0201 4y S+1 &Q 450 148.0 -148.0 B103 B303 2v S-1 a] -100 124.0 -124.0
Q1 Q201 4v S+1 &Q 450 148.0 -148.0 A3 A203 2¢ V+1 v6 -110 123.0 -123.0
Cc2 C202 4v S+1 &Q 450 148.0 -148.0 13 1203 3¢ V= v6 -110 123.0 -123.0
12 1202 4v S +1 EN) 450 148.0 -148.0 D101 D301 3¢ V= v6 -110 123.0 -123.0
02 0202 4y S+1 &Q 450 148.0 -148.0 Cl C201 24 O+1 vA -140 64.0 -64.0
A3 A203 4v S+1 &Q 450 148.0 -148.0 El E201 24 O +1 *2 -140 64.0 -64.0
E3 E203 4v S+1 &Q 450 148.0 -148.0 o1 0201 24 O+1 vK -140 64.0 -64.0
13 1203 4v S +1 &Q 450 148.0 -148.0 Q1 Q201 34 O= vA -140 64.0 -64.0
K3 K203 4v S +1 &Q 450 148.0 -148.0 G2 G202 24 O+1 vA -140 64.0 -64.0
03 0203 4y S+1 &Q 450 148.0 -148.0 02 0202 24 O+1 vK -140 64.0 -64.0
Q3 Q203 4v S+1 &Q 450 148.0 -148.0 C3 C203 34 O= vA -140 64.0 -64.0
S3 S203 4v S+1 &Q 450 148.0 -148.0 E3 E203 34 O= vA -140 64.0 -64.0
B101 B301 4v S+1 &Q 450 148.0 -148.0 G3 G203 34 O= vQ -140 64.0 -64.0
F101 F301 4v S+1 &Q 450 148.0 -148.0 K3 K203 24 O +1 vA -140 64.0 -64.0
J101 J301 4y S+1 &Q 450 148.0 -148.0 Q3 Q203 34 O= vA -140 64.0 -64.0
L101 L301 4y S+1 &Q 450 148.0 -148.0 J101 J301 24 O+1 vA -140 64.0 -64.0
P101 P301 4v S+1 & 450 148.0 -148.0 D102 D302 24 O +1 vA -140 64.0 -64.0
L102 L302 4v S+1 &Q 450 148.0 -148.0 J102 J302 24 O +1 vA -140 64.0 -64.0
N102 N302 4y S+1 +3 450 148.0 -148.0 L102 L302 34 O = vA -140 64.0 -64.0
P102 P302 4v S+1 &Q 450 148.0 -148.0 T102 T302 34 O= vA -140 64.0 -64.0
R102 R302 4v S+1 &Q 450 148.0 -148.0 D103 D303 34 O= vA -140 64.0 -64.0
B103 B303 4v S+1 EN) 450 148.0 -148.0 F103 F303 24 O +1 vA -140 64.0 -64.0
D103 D303 4v S+1 &Q 450 148.0 -148.0 Gl G201 24 O +2 vA -170 11.0 -11.0
H103 H303 4v S+1 &Q 450 148.0 -148.0 C2 C202 24 O+2 vA -170 11.0 -11.0
J103 J303 4y S+1 +8 450 148.0 -148.0 E2 E202 34 O +1 a7 -170 11.0 -11.0
P103 P303 4v S+1 &Q 450 148.0 -148.0 M2 M202 3«4 O+1 vA -170 11.0 -11.0
S1 S201 4v S= &Q 420 109.0 -109.0 Q2 Q202 34 O+1 vA -170 11.0 -11.0
K2 K202 4v N= &Q 420 109.0 -109.0 S3 S203 24 O +2 vA -170 11.0 -11.0
G3 G203 4v S= +8 420 109.0 -109.0 B101 B301 24 O +2 vK -170 11.0 -11.0
R101 R301 4v S= +6 420 109.0 -109.0 P101 P301 34 O+1 vA -170 11.0 -11.0
T101 T301 4v S= +8 420 109.0 -109.0 B102 B302 24 O +2 vA -170 11.0 -11.0
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D302 4v S= +8 420 109.0 -109.0 H102 H302 34 V +1 v6 -170 11.0 -11.0
J302 4v S= +8 420 109.0 -109.0 N102 N302 34 O +1 vA -170 11.0 -11.0
L303 4v S= *0Q 420 109.0 -109.0 P102 P302 24 V +2 v6 -170 11.0 -11.0
C201 3v S+2 *0Q 200 -220.0 220.0 R102 R302 24 O +2 vA -170 11.0 -11.0
E201 2v S +3 *2 200 -220.0 220.0 J103 J303 24 O +2 vA -170 11.0 -11.0

1201 2v S +3 L Jo) 200 -220.0 220.0 L103 L303 24 O +2 vA -170 11.0 -11.0
M201 2v S +3 +8 200 -220.0 220.0 N103 N303 34 O +1 vA -170 11.0 -11.0
A202 2v S+3 2Q 200 -220.0 220.0 P103 P303 24 O +2 vK -170 11.0 -11.0
E202 2v S +3 L JO) 200 -220.0 220.0 R103 R303 24 O +2 vA -170 11.0 -11.0
G202 3v S+2 *0Q 200 -220.0 220.0 Al A201 3v S-2 «Q -200 -47.0 47.0
Q202 3v S+2 +8 200 -220.0 220.0 11 1201 3v S-2 &Q -200 -47.0 47.0
S202 3v S+2 L Jo) 200 -220.0 220.0 M1  M201 3v S-2 4 Q -200 -47.0 47.0
C203 3v S+2 +8 200 -220.0 220.0 12 1202 3v S-2 «Q -200 -47.0 47.0
M203 3v S +2 2Q 200 -220.0 220.0 F101 F301 3v S-2 &Q -200 -47.0 47.0
D301 2v S+3 L JO) 200 -220.0 220.0 H101 H301 3v S-2 4 Q -200 -47.0 47.0
H301 3v S+2 *0Q 200 -220.0 220.0 L101 L301 3v S-2 «Q -200 -47.0 47.0
N301 2v S+3 2Q 200 -220.0 220.0 N101 N301 3v N-2 &T -200 -47.0 47.0
B302 2v S +3 L JO) 200 -220.0 220.0 F102 F302 3v N-2 *9 -200 -47.0 47.0
H302 3v S +2 *0Q 200 -220.0 220.0 K1 K201 4v S-3 «Q -300 -201.0 201.0
T302 2v N +3 vQ 200 -220.0 220.0 K2 K202 4v S-3 &Q -300 -201.0 201.0
F303 3v S +2 &4 200 -220.0 220.0 R101 R301 1v N-3 +4 -300 -201.0 201.0
N303 3v S +2 vT 200 -220.0 220.0 T101 T301 4v S-3 «Q -300 -201.0 201.0
R303 3v S +2 2Q 200 -220.0 220.0 H103 H303 4v S-3 &Q -300 -201.0 201.0
T303 3v S+2 L Jo) 200 -220.0 220.0 T103 T303 4v S-3 4Q -300 -201.0 201.0
M202 2v S +2 +*J 170 -272.0 272.0 A2 A202 44 O= vK -420 -359.0 359.0
F302 3v S+1 +8 170 -272.0 272.0 S1 S201 4vDN-2 aA -500 -448.0 448.0
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